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I'm trying to work out which numbers are
represented in the grids.
Please help me by filling in the boxes.

There is D ten and D ones.

tens ones
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There are D tens and D ones.
tens ones
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There are D tens and D one.
tens ones
tens =+ one =
There are D tens and D ones.
tens ones
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1. There is 1 ten and 6 ones.

1 ten + 6 ones = 16

2. There are 3 tens and 8 ones.

3 tens + 8 ones = 38
3. There are 2 tens and 1 one.

2tens + 1 one = 21

4. There are 4 tens and O ones.

4 tens + O ones = 40
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1. There are 4 tens and 9 ones.

4 tens + 9 ones = 49

2. There are 2 tens and 4 ones.

2 tens + 4 ones = 24

3. There are 3 tens and 6 ones.

3 tens + 6 ones = 36

4. There are 2 tens and 2 ones.

2 tens + 2 ones = 22

Page 3

1. There are 4 tens and 5 ones.

4 tens + 5 ones = 45

2. There are 2 tens and 7 ones.

2 tens + 7 ones = 27

3. There are 3 tens and 5 ones.

3 tens + 5 ones = 35

4. There are 3 tens and 2 ones.

3 tens + 2 ones = 32
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